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Questions tage I

He had no practice in composing music, ___ ?
A) didn’t he B) had he
C) does he D) has he

E) doesn’t he

You have read all Pushkin’s books, __?

A) not you B) have you

C) haven’t you D) aren’t you
E) isn’t it

You have a bad headache, ___?

A) isn’t it B) don’t you
C) does it D) haven’t you

E) won't we

He never thought what might come out of it, ___?
A) does he B) hasn’t he

C) didn’t he D) did he

E) won’t he

She comes from the family of Donovan, ___?

A) hasn’t he B) didn’t she

C) do you D) doesn’t she

E) won’t she

You have finished your work, ___?

A) didn’t you B) haven’t you
C) don’t you D) won’t you

E) have you

He isn’t a student, ___ he?

A) is B) does

C) do D) isn’t

E) was

There are so many people in the street, __ ?
A) are they B) are there

C) aren’t they
E) isn’t there

D) aren’t there

You don’t play the piano, ___?

A) don’t you B) do you

C) doesn’t it D) does it

E) isn’t it

This winter is not very cold, ___?

A) isn’t it B) is it

C) does it D) won't it
E) hasn’t it

The manner of addressing people in Britain is quite different from
ours, ___?

A) it is B) isn’t there
C) is there D) is it

E) isn’t it

There won’t be any trouble, ___?

A) wasn’t there B) will not there

C) will there D) do there
E) wouldn’t there

The boy wasn’t able to do it alone, ___?

A) didn’t he B) wasn’t he
C) was he D) did he

E) wasn’t it
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They have to ask somebody else to help them, ___?

A) haven’t they
C) do they
E) hasn’t he

B) have they
D) don’t they

There were many mistakes in your dictation, ?

A) weren’t they
C) aren’t they
E) aren’t there

B) were there
D) weren’t there

He had lunch at home today, ___ ?

A) hadn’t he? B) wasn’t he?
C) did he? D) didn’t he?
E) had he?

You lived here 3 months ago, ___?

A) don’t you B) had you
Q) didn’t you D) have you
E) do you

It isn’t very early now, ___?

A) isn’t it B) it is

C) doesn’t it D) hasn’t it
E) is it

Pete doesn’t work hard, __ ?

A) is he B) he does
C) does he D) he works

E) doesn’t he

A sick man can’t go out, can he?

A) No, he can’t. B) I didn’t know.

C) Yes, she could. D) No, he isn’t.

E) Yes, he could.

Nothing can stop us now, ___?

A) don’t it B) doesn’t it

C) can’t it D) can it

E) does it

There is neither electricity nor gas on the island, ___?
A) is there B) isn’t there

C) there is D) there isn’t

E) isn’t it
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